
Polaris XP1000 Door Inserts (P151210)  

 

Pro  Armor Door and N et are designed t o work together to re place your original equipment nets and/or door. Ins tall both the P ro 
Armor D oor and P ro Armor Net to m ee t occupant protection standards (ANSI/ROHVA -1 e�ec tive model y ea r 2014).  Use of nets 
may help keep y ou from sticking y our arm out of the v ehicle during a rollo ver.  

If you have qu your installa n, are unable able to complete installa n, or your door is not working correctly 
contact Pro Armor Customer Service or have an authorized dealer or trained technicians inspect your installa Pro Armor 
recommends you do not use your UTV if insta on of the Door, Net, and Slam Latch Kit is incomplete. 

Pro Armor Door and Net are designed to work with the seat belt and other safety features provided by the manufacturer, 
along with pr .  Pro Armor recommends you follow all manufacturers’ 
in  

If you us at 1-888-312-7667 or WWW.PROARMOR.COM 

WARNING 

NOTE: DRILL, 1/2” , & 1/4" DRILL BIT NEEDED FOR INSTALL!!!

Disclaimer 

Please read: This product is sold without warranty expressed or implied. No war-

cupant from any injury or death in any manner of use. The user assumes that risk.  

installed, used, and / or maintained. 
of the installer, and will not be assumed by Pro Armor.  

WWW.PROARMOR.COM or 
Contact customer service at 1-888-31-ARMOR  

Every ride has a story

http://www.proarmor.com/


Due to the production variances and differing conditions of the frame, door adjustments may be necessary to avoid rubbing and 
proper fit  Ensure proper fit before tightening hardware and continuing with installation!  If adjustment is necessary, confirm all 
mounting points are secured  Gently pull on the front or rear door frames to adjust positioning of the door in the frame  

NOTICE 

NOTICE 

For further information on RZR Door Installations and Warnings please visit our website WWW.PROARMOR.COM or 

Contact customer service at 1-888-31-ARMOR 

 If the mounting hole alignment is off, you might need to use a jack to lift the vehicle  This will aid in aligning the holes  By
lifting the middle of the vehicle, it will open the mounting area  And by lifting the front or the rear of the vehicle, it will close
the mounting area 

 Due to the production variances and differing conditions of the frame, door adjustments may be necessary to avoid rubbing
and proper fit  Ensure proper fit before tightening hardware and continuing with installation!

 If adjustment is necessary, confirm all mounting points are secured  Gently pull on the front or rear door frames to adjust
positioning of the door in the frame 

HARDWARE LIST: 
PART DESCRIPTION QTY 

1 Driver Door 1 

2 Passenger Door 1 

3 Hardware Kit 1 

4 Driver Quarter Panel 1 

5 Passenger Quarter Panel 1 

Installation Instructions: 

1  Open the stock door and remove 

the three(3) T25 Torx bolts circled in 

the pic to the left   

2  Drill out the front two(2) bolts that 

are close to each other with a 1/2” 

drill bit  TIP: DO NOT DRILL 

THROUGH THE PLASTIC PANEL ON 

THE BACK SIDE! 

3  Insert two(2) item #2 Rubber Rivet 

nut into the 2 holes you drilled out, 

small side in first  

Remove bolt  

DO NOT DRILL 

DRILL OUT 2 

HOLES TO 1/2” 

ITEM DESCRIPTION QTY. 

1 BOLT, M6 X 16MM, BUTTON HEAD FLANGE, 

BLACK ZINC  

10 

2 1/4”-20 RUBBER INSULATED BRASS RIVET NUT 4 

3 CLAMP BRACKET ASSEMBLY 4 

4 M6 X 1 0 ACORN HEX NUT, ZINC 2 

5 BOLT, 1/4”-20 X 1” SOCKET BUTTON HEAD 4 

6 WASHER, 1/4” FLAT ZINC COATED 4 



For further information on RZR Door Installations and Warnings please visit our website WWW.PROARMOR.COM or 

Contact customer service at 1-888-31-ARMOR 

USE THE DIAGRAM TO THE RIGHT SHOWING 

THE EXPLODED VIEW OF THE DOORS, HARD-

WARE AND PARTS USED TO INSTALL. THE 

HARDWARE IS NUMBERED ACCORDING TO

THE HARDWARE LIST ON THE PREVIOUS PAGE. 

4  Place the door insert panel in place like shown on the 

figure to the left and hand tighten the three(3) inside 

bolts first  Use the supplied 1/4”-20 x 1” long bolts for the 

front 2 mount holes you drilled and inserted the rubber 

rivet nuts   

TIP: First install only 1 front bolt tight to help keep the 

second bolt from pulling out the rubber nut  

5  Once all three(3) of the inner bolts are in, fully tighten 

them, checking as you tighten to keep the gap between 

the panel and the plastic aligned best as possible  Make 
sure the weather stripping makes a tight seal when the 
door is closed. 

6  Once all the inner bolts are tightened, use a marker or 

sharp item to mark the hole on the outside of the door 

and on the rear side  See figure to the right  Drill a 1/4" 
hole at this location.

7  Insert item #1 M6 Bolt from the outside towards the 

inside and tighten on the back using item #4 Acorn nut  

8  Repeat steps for opposite side 



For further information on RZR Door Installations and Warnings please visit our website WWW.PROARMOR.COM or 

Contact customer service at 1-888-31-ARMOR 

TIP: LOOSELY TIGHTEN THE CLAMPS ON THE QUARTER PANEL ON 

SOFT FLOOR SO IT DOES NOT SCRATCH AND WILL MAKE THE IN-

STALL EASIER  

9  Use two(2) clamp bracket assemblies for each quarter panel  

Loosely install the clamps on the quarter panel like shown on the 

figure to the right  

10  After loosely installing the clamps to the quarter panel, you can 

set it in place on the outside of the quarter panel tubes like shown 

on the figure to the left   

11  The panel should fit with all edges running parallel to the tubes 

that they are being mounted to  Once the gaps are good you can 

fully tighten all the bolts  

12  Repeat steps for opposite side 

NOTICE: Check all hardware before each us to ensure they are tight  

If there are any issues please contact Pro Armor customer service 

using the information at the bottom of each page  




